Q1.

A shop sells packs of sweets.

Q2.

Scaling — Consolidation Questions

Each pack has one red sweet and two green sweets.
Sam buys some packs so he has 4 red sweets.

How many green sweets does he have?

green sweets

On a school trip, every child is given 2 apples and 5 cherries.

Mrs Smith gives her group 12 apples.

How many cherries does she give her group?

cherries

Q3.

Joe builds a tower which is five bricks tall Gina builds one four times as high. How many bricks

does Gina use?




